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( Understanding Political Theory )
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Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed (any ten) :
1x10=10
&S AR oM SR Sed it (R ot w=bt)

(@) Who is known as the father of political
science?

FEAS R@R w5 o1 I @R =2

(b) “Man is born free and everywhere he is
in chain”—said by Aristotle/Hobbes/
Locke/Laski.

TR R @ W ;R e R Rt
T @R AR CpfRE GfB'heT /23 /o1
=A% |

( Choose the correct option )

( W@ Tt R Sfersar )
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(c)

(d)

(e)

(9)

(h)

A23/449

The behavioural approach to the study
of political science was originated in
UK/USA/France/India.

IS RS SRR aeid sk @
NS /RIS /TS Slws|

( Choose the correct option )

(W= Sedwt Ay Sfereat )

Legitimate power is called as ;
( Fill in the_;agnk )
QYO R olar =)
(R4 312 =7 w4t )

Feminism is a protest against what?

IR P2y RiRet $@9

Name one supporter of post-modernism.

OG- HYATORME G WP Ty oy |

In ancient Greece, City-State was called

( Fill in the blank )

AT Ao® PRABHRE ot el
( <0 512 o7 =1 )

Name one libera] theorist,

@W%mwﬁ@ﬁwmm;

( Continued )

(3

(i) What is Liberalism opposed to?
Sriaien ez Rt 92

0)

A23/449

(i) Totalitarianism
AR

(i) Authoritarianism
TEFI

(iii) Socialism
BRI

(iv) All of the above

8 Al
( Choose the correct option )

( wm Te! Az Sfersat )

Marxism regards State as a

T AT 3 Si)?

(i) Natural institution
Sfiphos AE

(i) Social institution
A g

(iii) Class institution
I A

(iv) Welfare institution

TR A=
( Choose the correct option )

( wm SwI! difz Sfersar )
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(k)

0

(m)
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[iEa)

Which one of the following is not a
normative approach?

OE (P! SIS /s=oiisfe (el w9

(i) Philosophical approach
GiRICEIRISE)

(i) Legal approach
SR et

(iit) Systems approach
ARSIl

(iv) Institutional approach

BECRICIEIER|
( Choose the correct option )

(W= Teo! iy Sfiea )

Name one post-behaviouralist.

I& SEI-AGRITT AT Braf | |

Mary Wollstonecraft is a liberal /radical
feminist.

G SARBFFT  Gorart CGERIaM T ey
R0 iR | 20

( Choose the correct option )

(wmw%‘fﬁem)

{ Continued )
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(5)

(n) “Democracy is a government in which
everyone has a share.” Who said this?

“alreg (2R G 9B A1 Al 1 TR
GHRY SR AR e e ?

(i) Abraham Lincoln
IR forge

(it) Dicey

©i2f

(iii) Seeley

e

(iv) Bryce
afke

( Choose the correct option )

( W=7 TeI! AR Sfereat )

(o) Who is the author of the book,
The State and Revolution?

The State and Revolution =INq MR
WG I ?

(p) Name one scholar of participatory

democracy.

SAARNAT ITOFT o ALY Y Byt |
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(@ Who wrote the book, Leviathan? . () Did post-behaviouralism reject behav-
: iouralism?
Leviathan 79 IR @XF @2 SEI-SGIT WG AR PR
(7 Mention any one feature of behaviour- G
alism.
SisarE R @G Bt @Y SEe 4| ' (g9 What was the central thrust of
- enlightenment project?
WA e 3 vy R e onfE?
2. Answer very brie_ﬂy/ Write short notes on any ’
five of the following : 2x5=10 | (h) Mention two major devices of direct
mfﬁ;ﬁ:ﬂ;ﬁ fort /sere Prp=d R eie st wfs | democracy.
o1 = | erop a1eEd WO I 3 82
(a) Mention two scopes of political science |
s £ ET?T : o . () What is First Past the Post method?
2h : - S AR @ wfs 62
(b) What is the first wave of feminism?
AT 2L G 52 () Michel Foucault
(c) Name two proponents of libertarianism.
Ifeme g&a WL AW forat |
(d Bring out the sex-gender distinctions. 3. Write short notes on any four of the followinsgx 4 o
%ﬁ@mww%mww@ﬂqq | woro Frape R QI SiReR @R oY Gt st :
(e) Historical materialism ' G =
P @R RS
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(9
( 8) |

‘ 4. Answer any four of the following questions :

(b) Elements of Post-modernism 10x4=40

-SRI Setiipig | s fit eERe R G SRR Sew Rt
At ; 2 5 e
e | Y
RECCEEEIEE S CEE O |
R AORIPTR | e ©gd T&® 7l | 2R g QT 9

| m 8TS HIEI6 41 |
(d) Behavioural revolution ‘ I

IR e | (b) What is liberalism? Make a comparative
' analysis of classical and modern
liberalism. 3+7=10

(e) Participation
an ; .
democracy d representation in | TrRm 2 AR Wi Sy e SuiamE

610 I O | 5 R O
ﬁmWﬁi‘TWﬁ%ﬁﬁ?

. (c) Attempt a critical appraisal of libertar-
() Features of historica] approach | ianism and explain its key ideas. 10

R e e | o eme o HETEE
SISRGRI SIE JE 4 gRepTR ot |

(9) Marx on democracy

d) Describe Marxist view f liti
of Gtk A (d) of political

theory. How does it reject the liberal
; view? 6+4=10
(h) Traditional yiew op politic Ll o
g 3 @D SHIEE ASH B
?!T@ﬁﬁ%‘q SqE WW% W

!! A23/449 ( Turn Over )
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( 10 ) | (RITES)

(e) What is an approach? What are the () What is the deliberative theory of
traditional and modern approaches to democracy? Discuss its key features.
political theory? 9+8=10 4+6=10
e 41 A olTeFd OF 57 Wi To1 WREPRR

1 62 Ireafes weq sfaeomiere 1
S SR qiesh R i

X () Examine the principles of procedural
1 Cm’lc".ﬂly examine the main features of | democracy and discuss the case of
feminism. What are the differences ! - procedural democracy vs. substantive

f1E:e.tv.m3ler1 liberal feminism and radical ,i democracy. 5+5=10
eminism? 54510 | AfFire A EfeTS TSy AR AT
, T TE ARES ATeg N G STeEd

W"i”‘”:;‘ﬂ“ GFRPRR W qRE | @9 Al <1 |
IRl SRR W w ey |
© M R o7 : * &

(99 What is post-m i
-modernism? i '
salient features? b ared:tsﬁ 10 |
+ p— 1

(R

Di
1scuss the concept of democracy. Do |

0 - - .
ifl; think India is a successful model
émocracy? Explain. 5+5=10
|

SITOFT ARG Ao 2oy
|
TG o et Srareeyo wﬂw
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